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6)liogJl
C+EIM, =0; —90N-m — 60N(1m) + Ng(0.75m) = 0
NH = Z'DDN
Using this result,
LK 3F =0; A, — 200sin 30°N = 0
A, = 100N
+13F, = 0; A, —200cos 30°N — 60N = 0
A, = 233N
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S3F =0 A, —52(&) N + 30cos 60°N = 0
A, = 500N Ans.
+13E = 0; Ay, —52(13) N — 30sin 60°N = 0
A, =T740N Ans.

C+IM, =0; M, — [52(13)N] (0.3 m) — (30 sin 60° N)(0.7 m) = 0

M, = 326 N-m Ans.

Fy = V(5.00? + (74.07 = 74.1 N
A e Goall An=s
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[N cos 30°](6 ft) —

Using this result,

53F, =0;

— TZE‘. = 0

Py

[Ng sin 30°](2 ft) — 750 1b(3 ft) = 0
Np = 536.21b = 5361b

— (536.21b) sin 30° =
= 268 1b

(536.21b) cos 30° — 7501b = 0
286 Ib

LS\.%J\J.C..LLLW..Q,C 9B we g&§ba&.cd.ﬁ,gu.«.‘.nia}c.c:82dtum

..)3..3) W‘ ¢

Ouslall ol il c¥andl e Lol sl oIS 13)
dgand) (59 Jleals LY blas e Jladd|

1/\” R
429_(%\1 ;n
S/

30°

(a)

b IS & s ) el Lalas

https://manara.edu.sy/



https://manara.edu.sy/

[

o)liall
t O3l Y slas
LH3F =0 C, sin30° + B, sin30° — A, = 0 (1)
+12F, = 0; —300N + C, cos 30° + B, cos 30° = 0 (2)
C+IM, = 0; —By(2m) + 4000 N-m — C,(6 m)
+ (300 cos 30° N)(8m) = 0 (3)
{(3)5(2) cxolall o
B, = —1000.0N = —1kN

C, = 13464 N = 1.35kN

(1) Ualall § yogal

1346.4 sin 30° N + (—1000.0sin 30°N) — A, = 0
A, = 173N
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6)liogJl
5SF =0 A, = Ans.
+13F, = 0 Ny — 900N = 0
Ny = 900 N \ns.

The moment M, can be determined by summing moments either
about point A or point B.

C+IM, = 0;

My, —900N(1.5m) — S00N-m + 900N [3m + (I m)cos 45°] = 0
M, = —1486 N-m = 1.49kN-m) Ans.

or

C+SMyz = 0. M, + 900N[L5m + (1 m)cos45°] — SOON-m = 0
M, = —1486N-m = 1.49kN-m) Ans.
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Using the x, y axes and applying the force equilibrium equations,

B SF. =0, F,cos603° — Fcos45° + 400N = 0

+13F, = 0;  F,sin60.3° — Fsin45° =
Solving, we get

F, = 1.07kN
F = 132kN
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